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Question 1
Question Type: MultipleChoice

A remote physical server is unable to communicate to the network through the available NICs, which were misconfigured. However, the

server administrator is still able to configure the server remotely. Which of the following connection types is the server administrator

using to access the server?

Options: 
A- Out-of-band management

B- Crash cart access

C- Virtual administrator console

D- Local KVM setup

E- RDP connection

Answer: 
A

Question 2



Question Type: MultipleChoice

A server administrator needs to configure a server on a network that will have no more than 30 available IP addresses. Which of the

following subnet addresses will be the MOST efficient for this network?

Options: 
A- 255.255.255.0

B- 255.255.255.128

C- 255.255.255.224

D- 255.255.255.252

Answer: 
C

Question 3
Question Type: MultipleChoice



A systems administrator has noticed performance degradation on a company file server, and one of the disks on it has a solid amber

light. The administrator logs on to the disk utility and sees the array is rebuilding. Which of the following should the administrator do

NEXT once the rebuild is finished?

Options: 
A- Restore the server from a snapshot.

B- Restore the server from backup.

C- Swap the drive and initialize the disk.

D- Swap the drive and initialize the array.

Answer: 
C

Question 4
Question Type: MultipleChoice

A technician wants to limit disk usage on a server. Which of the following should the technician implement?



Options: 
A- Formatting

B- Compression

C- Disk quotas

D- Partitioning

Answer: 
C

Question 5
Question Type: MultipleChoice

A server administrator is testing a disaster recovery plan. The test involves creating a downtime scenario and taking the necessary

steps. Which of the following testing methods is the administrator MOST likely performing?

Options: 
A- Backup recovery



B- Simulated

C- Tabletop

D- Live failover

Answer: 
C

Question 6
Question Type: MultipleChoice

An administrator is configuring a server to communicate with a new storage array. To do so, the administrator enters the WWPN of the

new array in the server's storage configuration. Which of the following technologies is the new connection using?

Options: 
A- iSCSI

B- eSATA

C- NFS



D- FcoE

Answer: 
A

Question 7
Question Type: MultipleChoice

Which of the following would a systems administrator implement to ensure all web traffic is secure?

Options: 
A- SSH

B- SSL

C- SMTP

D- PGP

Answer: 



B

Explanation: 
Secure Sockets Layer (SSL): SSL and its successorTransport Layer Security (TLS)enable client and server computers to establish a

secure connection session and manage encryption and decryption activities.

Question 8
Question Type: MultipleChoice

A technician has received multiple reports of issues with a server. The server occasionally has a BSOD, powers off unexpectedly, and

has fans that run continuously. Which of the following BEST represents what the technician should investigate during troubleshooting?

Options: 
A- Firmware incompatibility

B- CPU overheating

C- LED indicators



D- ESD issues

Answer: 
B

Explanation: 
Unexpected shutdowns.If the system is randomly shutting down or rebooting, the most likely cause is a heat problem.
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